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Question Number : 1 Question Id : 3354728031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Similipal Tiger Reserve situated? | ATATA 215T% Tvad Tohey v # 89T 37

Options :

1. ¥ Odisha | sifEam

2. ¥ Maharashtra | AgRTE

3. ¥ Andhra Pradesh | 30l wear
4. ¥ Madhya Pradesh | Rer ugar

Question Number : 2 Question Id : 3354728032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
MName the gland that is located in the midline (between the two cerebral hemispheres) of the human brain. |

AT Oy ol T[T (W Tiere & TeR) H @19 & uifer suiedy 27
Options :

1. ® Adrenal | segg

2. ® Thyroid | s@guRr

3. ¥ Pancreas | am=grag

4. ¥ Pineal | Ui

Question Number : 3 Question Id : 3354728033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who is the first Prime Minister to have contested elections from two different constituencies and won from

both? | @9 & UH Wd Weua! 3 Mg id= g sTeT- 1@ Haiad g3t & g9 ag o gFl € Sid?
Options :

1. ¥ Indira Gandhi | gfexr meft

. ¥ Narendra Modi | T¢=< Hiar

® p Vv Narasimha Raoc | Ut df RiawgE 0

¥ v P Singh | 9t it &g

[

L

e

Question Number : 4 Question Id : 3354728034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Wor%]d Diabetes Day’ is celebrated on _________ of every year. | ‘Tovar AydE feaw wad® a4

Options :

1. ¥ 14th November | 14 qde%
2. ¥ 28th November | 28 d9dat
3. ® 29th June | 2957

4 % 28th June | 28 57

Question Number : 5 Question Id : 3354728035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Government of India Act 1909 is known as .| AIRT OO Sy 1909 @ ______ & ® 0 | AET AT 8

Options :
1. ¥ Montague Chelmsford Reforms | AT ZFGIE G
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[

. ¢ Minto Morley Reforms | fiieT ol gem
# Cabinet Mission Plan | Sieqe e =T
# Cripps Mission Plan | e Hee I+

L

e

Question Number : 6 Question Id : 3354728036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who has been appointed as the Chief Coach of Indian Senior Men's Hockey team in September 20177 | daw
2017 B AWd T T8 U209 glebl ¢ 10 & G&I P & & | forel g foram mram 27

Options :
1. ¢ Sjoerd Marijne | &2 AR

2. ¥ Roelent Oltmans | Td+ lecAg

#® Harendra Singh | g &%
# Colin Eatch | ®led &

W

Question Number : 7 Question Id : 3354728037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
when did the first ‘Five-Year Plan’ come into effect? | Ugal TEemia F-T @e WA H T2 17

Options :

1. ¥ 1947
2 % 1950
3. ¢ 1951
4 % 1955

Question Number : 8 Question Id : 3354728038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Whic%vs tate has the longest network of National Highways in India? | ¥RT & o T4 | T TRTATT &7 Teed #aT

Options :

1. ® Andhra Pradesh | a7 0csr
2. ® Rajasthan | T=EAH

3. # Madhya Pradesh | @ ugar
4 ¢ Uttar Pradesh | 3qd¢ Ued

Question Number : 9 Question Id : 3354728039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the distance that will be covered by the proposed Bullet Train corming up in India? [97a # o 1 0eqriad

AT 3 BT a9 Y 78 g Tepait gt

Options :
1. ¥ 253 kms | 253 ot

2. ¥ 306 kms | 306 Tt
3. ¥ 469 kms | 469 TRt
4. ¥ 508 kms | 508 ford

Question Number : 10 Question Id : 3354728040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The 8th BRICS Surnmit was held in 2016 in | 2016 # 847 9o Ty g

Options :

1. ® Bihar | TgX

2. ¥ Madhya Pradesh | Rezr udar
3. v Goa | ThaT

4. ® New Delhi | 718 Tl

Question Number : 11 Question Id : 3354728041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
According the Census 2011, which is the most populated district in Madhya Pradesh? | @ 2011 &l S=0MET &
AR, Hed Ve F Gael JATET HTaTel aTaT el &1 AT &

Options :
1. ¥ Bhopal | HOTA
2. ¥ Gwalior | TEmieaT

3. ¥ Jabalpur | SEeqC
4. ¢ Indore | 2

Question Number : 12 Question Id : 3354728042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The important fort located at Jabalpuristhe __________ | Faeye # e Agdayet T, ___________ 2l

Options :

1. ¥ Madan Mahal Fort| A Az feaT
2. ¥ aAmla Fort | STHAT fFaT

# Maharaja Fort | AT fehaT

L

e

® Rana Sanga Fort | T @77 fefaT

Question Number : 13 Question Id : 3354728043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Maheshwar is situated on the banks of river

Options :

1. ® Chambal | g&e
2. ¥ Narmada | 7dar1
3. ¥ Sone | 99

4. ¥ Shipra | fmr

Question Number : 14 Question Id : 3354728044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name the baori (step well) located in Malhargarh fort in Guna? | 74T # HegTae et # e amart (G0 =) @7 91
FATI?

Options :

1. #¥ Ahilya Baori | aifgem aest
2. ¥ Kapala Baori | @07 aEst
3. ¥ Sultan Baori | Gea™ d@s!
4 ¥ Dovala Raori | ST aTgaT
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Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 15 Question Id : 3354728045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Kundalpur in Darmoh district is the pilgrimage centre for which particular religious sect? | alg el # dEqe
Frefaman dg o T2y enfier awem & @0 27

Options :

1. ¢ Jains [ 94

2. ® Hindus | frgsit
3. ® Buddhists | @l
4. ® Parsis | ORTEA!

Question Number : 16 Question Id : 3354728046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where are the Doodhdhara and Durgadhara waterfalls located? | GererRT 3T gTerRT STemuTd w51 2T 37

Options :

1. # Satna | 9a-dr

® Panna | ugT

¥ Anuppur | SHIR
#® sidhi | ®reft

M

9

>

Question Number : 17 Question Id : 3354728047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0 _
Where did the ‘Quit India’ movement begin from? | “Wd FISr STEIwH 51§ SH FHT?

Options :

1. * Nagpur | 9TgT

® sabarmati | GELAGT
® Amritsar | SWHIEC
¥ Mumbai | gag

[

w

.Y

Question Number : 18 Question Id : 3354728048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Dalai Larma is the exiled leader of which Chinese province, living in India? | AR # Tg a1 SaT8 @7 {5 =T
T & T =47 &7

Options :

1. ¥ Shenzhen | 959

# Guangzhou | TG
¥ Tibet | [deag

® Macau | AETE

o

L

s

Question Number : 19 Question Id : 3354728049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is th% name of the all-India tax passed by the parliament in 20177 | 2017 ¥ G0 gRT UTIT A& ARG 4 &
T FT A &

Options :



¢ GST | Sfqaét

® VAT | dT

¥ Service Tax | ®aT 9%
® Levy | ot

Wwor e

-
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Question Number : 20 Question Id : 3354728050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which of the followng districts does NOT belong to the Narmadapuram Division? | FafeiEs et # g @t ar

THETCH ST &1 5l

Options :
1. ® Hoshangabad [ glaeng

. ® Betul | o
3. ¥ Sehore | HER

#® Harda | g1

Mo

-

General Maths and General Aptitude

Section Id : 335472264

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472264
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Nurmber 64 and 36 have the property that they are divisible by their unit's di a%; The nurmber of nurnbers

betweenn 20 and 60 such that this property is satisfied b
e 31 20 3T 60 o =te & degret # F Ud! forat g

Options :
1. ¥ 19

o % 21
® 20

4 ¥ 17

L

hern is: | 941 64 Ssﬁqw%ﬁﬁﬁamﬁwrﬁm@r
msﬂﬂwaﬁw STTT &

Question Number : 22 Question Id : 3354728052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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A invests Rs. 100000 in a business. Four months later B joins with an investment of Rs. 50000, 2 months

after E joins, C joins with Rs. 150000 investment. At the end of the year, the profit was Rs. S0000. What is E's
share in the profit? | A U&F =0 # 100000 T2 T8 FdT 81 =K AT Wad B 50000 F0 &F 910 39 AiHa 51 Fa71 21 B
¥ ﬂﬁ;@ﬁﬁiz ATE WaTd C 150000 702 & T3ear o Ty aniie 57 a7 81 99 o 2fF #, @R S0000 702 am @R # B &7 fgear

Options :

1. ® Rs. 24000 | 24000 ¥
2. ¥ Rs. 8000 | 8000 &Y

® Rs. 18000 | 18000 &

4 % Rs 10000 { 10000 Fq

L

Question Number : 23 Question Id : 3354728053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the distance travelled by a car in 6 hours, if the speed is 55 km/hour? | 6 ¢ # U P GRT $I TS AT
LT AT 5, g TMid 55 Tordl eer g7

Options :

1. ¥ 350 km | 350 ot
2. % 330 kn | 330 Tt
® 340 km | 340 ot
# 325 km | 325 Tt

=
4

Question Number : 24 Question Id : 3354728054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If 2x2 + 2x+ 9 =0, then (2x + 1) is equal to 3 22+ 2+ 0=0,a (2x + 1)?
& e B
Options :
1. %18
. -17
4 ® 2

L

Question Number : 25 Question Id : 3354728055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
10000

The value of —— X 107° X 1078 x 1_5 is:
10 10

% _ & A &

X 1075 X 1078 X —
10

/

Options :
1. ¥ 0.000001

2 ¢ 0.00001
3. ¥ 0.0001
4 % 0001

Question Number : 26 Question Id : 3354728056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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3 5xg™5 3 5 xg™5

The value of —— = Y e —
2772x24372 ——— 277 2x24372

FT AT = |

Options :
L5

w M
®$ ®
O

o

8
[
-~

Question Number : 27 Question Id : 3354728057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A truck is loaded with sand 4 m long, 2 m wide and 1 m height. If the price of 1 cubic meter of sand is Rs.

1000, then the price of sand is: | U% 7% & 4 AT dal, 2 AleT Aial 3T 1 7T JATE & 47 @ 9 foar T/=m aig 1 949 #ieg
HT FEAT 1000F 3, 14T BT FIAT I

Options :

1. ¥ Rs. 1000 | 1000 ®
2. ¥ Rs. 2000} 2000
3. ¥ Rs. 8000 | 8000 ®
4. ¥ Rs. 4000 | 4000 F

Question Number : 28 Question Id : 3354728058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(x+1)(x2-x+1) =7

Options :

1 x3+1

o
#

x3+x2+1

Question Number : 29 Question Id : 3354728059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the square of (1.2)? | (1.2) T a1 &7 &7

Options :

¥ 1.44
® 144
¥ 0,144
. ® 00144

!'\JI—'-

NN

Question Number : 30 Question Id : 3354728060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Find the average. | 3f&d o

32, 58, 42, 27, 31
Options :
1. ¥ 37
2. ¢ 38
3. ¥ 39
4. % 40

Question Number : 31 Question Id : 3354728061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In an exarn, a student gets 20% marks and fails by 30 marks. A second student scores 32% marks but gets 42
marks more than the minimurm passing marks. Find the passing percentage? | U& TOaT H, UF TRmdf 20% /@ o
%sﬁr 3%%Eﬁﬁ eq'fﬁﬂfg‘rmma e o Tt 32% e AT AT & ST AT S Sl § 42 s s mE
it aidsd A w7

Options :
1. ¢ 25%
=

2

2

¥

N T
=

W
¥

e

#®
M
R

Question Number : 32 Question Id : 3354728062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A train 150 m lon runn at a speed of 60 kinfh crosses a bridge in 30 sec. The length of the bridge is: | T&F
150 et et : VIS T T & SIS 5 UF OF B 30 GPUS H U FA T 5 G I AT &,

Options :

1. ¥ 350m | 350 Hiex

2. ¥ 500m | 500 #eT

® 500m | 600 Hiex

® 1000m | 1000 HeT

w

o

Question Number : 33 Question Id : 3354728063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Five students weighed themselves in pairs in all possible ways. The weights were 90 kg, 92 kg, 93 kg, 94
95 kg, 96 kg, 97 K% 98 kg, 100 kg, and 101 kg. What was the total weight of the five boys? | o=

FTTeT Terml | T W e Teram w80 T, 92 T 93 T, 94 Trom 95 T, 96 fem, 97 T, 98 R,
100 T e 101 ﬁmTin ¥l ST T ot T T T

Options :

1. ¥ 239 kg | 239 fpm
2. ¥ 229 kg | 229 T
3. ¥ 230 kg | 230 T
4. ® 240 kg | 240 T

Question Number : 34 Question Id : 3354728064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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The sum of the present ages of a mother and a daughter is 70 years. 5 vears back, the mother's age was 3
times the daughter's age. Find the present age of the daughter. | U UAT & U@ THT HT G0 A1 & A% 70 79
215 Ty U, AT T S Gl BT A H 3 T M gt F ad w1 e

Options :

1, ® 25

2. % 30

—_

v 20

w

4 ® 15

Question Number : 35 Question Id : 3354728065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Desikan was born on Saturday Novernber 3, 2002, What will be the day of the week onl his birthday in 20087 |
T A AAR 9, Faay, 2002 FT golT 4N 2008 H JHF ArHIGA UL THIG FT B 6T Tod GHT?

Options :
1. # Saturday | ai9aR

4 Sunday [ TIEdR
# Monday | WA
® Tuesday | AT

[

w

e

Question Number : 36 Question Id : 3354728066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Ravi sold an article for Rs 460 and got a 15% profit. The sellin grice for getting a 20% profit should be: | T4
460 w0 # UF afgedg o1 Ud 15% &7 19 WTH fdam 20% EIT?IFFTHEF(_-% Toly TelehT A giiT ATie:

Options :

1. % Rs. 483 | 483 &3
2 ¥ Rs. 480 | 480 0
® Rs. 498 | 498 ¥
4. ® Rs. 485 [ 485 &0

(A}

Question Number : 37 Question Id : 3354728067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the sumn of two numbers is 35 and the larger one is 21 more than the smaller one, then the larger number is:
| T ST ERETet T TG 35 & WY SrHay 9, Ay § 21 w &, F7 Siday 6 B

Options :

1, * 50

.V 28

[

® 20

4 ® 14

A

Question Number : 38 Question Id : 3354728068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the given numbers are arranged in increasing order? | &1 & G&amell # § &4 &1 agd FU #H H cUaied 57

Options :

15<14 <13 <Y
i. %
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1/4<13<12<1/5

13<12<1/5<14

12=<13<1/M4<1/5

Question Number : 39 Question Id : 3354728069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The square root of 17.859076 up to 3 places of decimal is: | SIWA % o (4 T 7%, 17.859076 T S o
Options :

1. ¥ 4226

2 ® 4118
3. ¥ 4868

4 ® 47328

Question Number : 40 Question Id : 3354728070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The least perfect square which is divisible by 3, 4, 5, 6, and 8is: | ~gAq@ i a1 =1 3, 4, 5, 6 Td & F e=a &

Options :

1. ¥ 900

2. % 1200

3. ¥ 2500

. 4 200

General Hindi

Section Id : 335472265
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472265
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Voo . 1 XXTaaa .. N
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e 2 Tt | S, o § U ey FEATT 5l
Options :

M

w

Y

MY

Question Number : 42 Question Id : 3354728072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
T g AT 30§~
Options :

%]

w

-

Question Number : 43 Question Id : 3354728073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
1 T et & Sea ! I THATERT a=Td T 9eg 3-
Options :

1. ¥ o

.2

L

e

Question Number : 44 Question Id : 3354728074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Trqur 7 arf wife-
Options :

R

w

.Y

Question Number : 45 Question Id : 3354728075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
HHT-AAT 8 & 957 &7 IgTEem 2-
Options :

Question Number : 46 Question Id : 3354728076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
TEAT T O o @I |87

Options :

2

B
® ¢ ¥
J Oﬁ :

Question Number : 47 Question Id : 3354728077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
“Teren] &7 SuTEE & o UF g Mg H R T E?
Options :

1

AW

Question Number : 48 Question Id : 3354728078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘ST T A e M H A e AT gy
Options :

1. % srg+smar

3. ¢ srg+am

4, ® s+

Question Number : 49 Question Id : 3354728079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o FT A e MR A F BT AT E?
Options :

2. ¥ foean

. gigm

L

-

Question Number : 50 Question Id : 3354728080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T I & 74T e ME H @ F A B
Options :

!\Jr—l

W
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Question Number : 51 Question Id : 3354728081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
AT e H FE H | @ 97 9HE 57

Options :

® 3 YT HHTH

W

e

Question Number : 52 Question Id : 3354728082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
TR T TETaR T o o & e AT 7
Options :

w

o

Question Number : 53 Question Id : 3354728083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TE BT T T H G A ETE?

Options :
1. v g3

ik c

r

L

Question Number : 54 Question Id : 3354728084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

ST AT T -1 SIgyd &7 vl
TH-TIH Wid ol Pife—apiie Fgall
Ul T A S R AT g

Options :

4 % gaTg

Question Number : 55 Question Id : 3354728085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AT A 3 W 9, 3 araw g9 W

e =i 17 Termet Ty Siefg uee feemmell
o @1 |7 SA@ 31 el e -7

Options :

1. ¥ 27 AR
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[

I STEET

L

Question Number : 56 Question Id : 3354728086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

JUgH T Teg =i - el
Options :

1. ¢ Feutae

® GPHE?F

w

MY

Question Number : 57 Question Id : 3354728087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

o & & g = T g -

Options :

1. ¥ [ o6 FidqT I UGHT g HT SITHTT Fam
2. % g TH FlAAT PI UGHT S BT Fol
® U3l 59 BT Pl UGHT AHE 51 TG GO

L

s

Question Number : 58 Question Id : 3354728088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

ATE =T | &1 |7 qATT 27
Options :

1. % dcqey

3. ¥ giym

Question Number : 59 Question Id : 3354728089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
AT &7 FTeATE ' o T - T af 99T ATt Jeg @ el AlST § -

Options :

1. ® g - T&y

o ® q;um—ea%)
3.V aw-7

Question Number : 60 Question Id : 3354728090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATy T § E TR GHTE ®T ISR 87

Ontions :
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1. ¢ g aue
2 % FqUEy qAT
3. % gy aaE
4. ® fGyau
Rural Economy and Panchayati Raj
Section Id : 335472266
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472266
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The __________ under the chairmanship of Prof. M.5. Swaminathan submitted its final report in October 2006

| T OH. O, EATHAT T ey = gAY 2006 H ST Sifdw fatd o &

Options :

1. ® National Commission on Forests | e FHISH $TH BIEE (G410 TE I A=)

2. ¥ National Commission on Farmers | S9=a FHISH 379 BTHd (eprar! o T smam)

3. ¥ National Commission on Rural Econormy | S8 IS 3T &6 @ ATHT (TTH0T SFieaemeT o T s
4. ¥ National Commission on Panchayati Raj | Sed ®HI 371 T=ETd | O (UeTad T T UE TR ST

Question Number : 62 Question Id : 3354728092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the objective of Panch Parameswar Yojana initiated by the Govt. of Madhya Pradesh? | A2 03 Jm64
TR & @ AT Ul THeR AT &1 399 &7 57

Options :

1. ¢ To empower village panchayats |TTH TTd! &1 T e

2. ¥ To provide assistance to Sarpanchs | GXU=! &1 GgMHaT WS FeAT

3. #® To provide rural employment | TTHITT TR TEH FAT

4. ¥ To develop 5 major cities of the state] YA & 5 T2 AECT @ @ FCAT

Question Number : 63 Question Id : 3354728093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
“Farm to Fork” is the approach of which policy of Madhya Pradesh? | "®TH g BTd" We[d near @i forg Hifd w7 gigeim

MNntinnc *
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® State Fisheries Policy | T4 Hedd UTet wiiTa

¥ State IT Policy [ U= amet A

¥ State Organic Farming Policy | T Sifaw &4t ifd

¥ State Soyabean Farming Policy | T4 HTaTell Fi¥ Hiid

o A

Question Number : 64 Question Id : 3354728094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following DOES NOT cormne under cottage industry in Madhya Pradesh? | #eg nda # g€ # &
FAT? FeIX JET & SATTT Tg! AT 57

Options :

1. ¥ Stone carving | Ue¥R U gt
2. ® Toy making | M&&M Fa=T

3. ¥ Handloom | geEer

4. ¥ Shoe making | g s==T

Question Number : 65 Question Id : 3354728095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following comrnittee has been constituted to prepare a blueprint for doubling the farmers’

i%%comeby2022?I2022Wﬁﬁqﬁfﬁmﬂﬁ?ﬁﬂ=ﬁmww T o 1ol Mg # & @i o | mad @ e

Options :

1. ¥ DR Gadgil Committee | ZT. 3. TS HHT
2. ® Kasturi Rangan Cornrmittee | ®eqel U HHeT
3. ¥ Ashok Dalwai Cormrittee | 219 Seag wHl
4. % Justice Lodha Committee | Jieed AlGT FHT

Question Number : 66 Question Id : 3354728096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich online facility has been launched by the Union Government to provide direct solution to problems in

agriculture sector? | FiY &7 ¥ FHREATST FT Teae GUTTT U B & ol thg, GeaTe = T sfT-eTg gice &1 51T &1 57
Options :

1. ¢ e-Krishi Samvad | 3-3N g5

2. ¥ e-Krishi Samadhan | -3 AT

3. # e-Krishi Solutions | 33 7gaq

4. ® e-Krishi Samarthan | 2-@N awefq

Question Number : 67 Question Id : 3354728097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Agriculture Prices Corrmission and [ndian Food Corporation were constituted in

gy # miga e T €h
Options :
1. % 1960

2 & 1965
3. ® 1996
4 ¥ 1969
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Question Number : 68 Question Id : 3354728098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Pradesh Tractor Dwara Kheti (Prabharo Ki Vasuli) Adhinivam (Act) received the assernt of the
GOvernor in _____ .| WD U Soed T W | (WY ST S Srfer-e @t H YT & ag AT THwh

Options :

1. ® 1936
. ® 1947
. % 1958
4. ¥ 1973

[

4

Question Number : 69 Question Id : 3354728099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the MGNREGA enacted? | AT &1 &a & SITeT=aiHd ehaT 7= 477

Options :

1. ¥ 2005
® 2008
® 2006

M

w

® 2007

s

Question Number : 70 Question Id : 3354728100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

which of the following is NOT a medicinal plant cultivated in Madhya Pradesh? | 7z ndar # fagiaias # & fog
aftwefter OYer &7 ST A5l @ SAET 57

Options :

1. ® Lemon grass | oH9 U
¥ Coriander | 94T

#® safed Musli | 9%g GEdT

® Tulsi | geet

Sow o

Question Number : 71 Question Id : 3354728101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

MNational Bank for Agriculture and Rural Development was established in the year
UE 0 Sdaule (TM9e < P19 Ud TTHI0T e s &1 e ag
Options :

1. % 1969

® 1975

M

¥ 1982
4 % 1994

L

Question Number : 72 Question Id : 3354728102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following is considered as Priority Sector for financing by banks? | FEieET # & e d@t 2
TERTOOT 3 ToT TR AT & € ® HET AhT 87

Options :
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1. ¥ Industries | JeMT
2 % Services [ ®aT

3. ¢ Agriculture | FY

4. ¥ Big trade | 92 =R

Question Number : 73 Question Id : 3354728103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Rural masons under rural housing schemes are trained and certified by _______ .| TITHIT STTETe el @ sfarid
TTHOT ST te W ___ & ENT 3 oATioT T AT 7 1
Options :

1. ® Ministry of Rural Development | TTHIT e mama

% Respective Panchayats | Helad w=mad

. ¥ National Skill Developrment Corporation | T @1 feame fmm
4. ® NABARD | ATeg

M

k)

Question Number : 74 Question Id : 3354728104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The first state-of-the-art logistics and agri-business hub on PPP model in Madhya Pradesh has been
established in ______. | TET v B it HiSe 0T Uget T4 3 SICaTY v THg, AT FIY cadTe dig @l €T

Options :

1. ¥ Hoshangabad | §laTeEg
2. ¥ Bhopal | 9@

3. ¥ Jabalpur | S&@yY

% Seoni | et

e

Question Number : 75 Question Id : 3354728105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Mational Fisheries Developrient Board is located in

| S e Saeuie d18 (TP A e e 912

Options :
1. ¥ Hyderabad | fetEg
2. % Goa | Mar

3. ® Mumbai | g%
4. % Chennai | =rg%

Question Number : 76 Question Id : 3354728106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Livestock census is conducted in India in every

o o ST e

Options :
1.¥5
2 %8 4

'3-333

=

4 % 10
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Question Number : 77 Question Id : 3354728107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Deen Daval Upadhyay Gram Jyotl Yo%ma replaces which one of the following erstwhile schemes? | $9 g4Td
JUTEATH W =AM AT o H ¥ T AT 1 A T 277
Options :

1. ¥ Integrated Rural Development Programme | ECiies &d Sadude HiH

2 ¥ Rajiv Gandhi Grameen Vidyutikaran Yojana | Triter Treft oo feregd temeor I

3. ¥ Saansad Adarsh Gram Yojana | 9Mg e deT=T

4 % Deen Dayal Upadhyay Gramin Kaushal Yojana | £ ST SUTRIT UTHIT HIAe FieeT

Question Number : 78 Question Id : 3354728108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The MNational Agricultural Market launched in 2016 isa ______. | 2016 # & T2 96 Uliiheatel HIdhe (TP FY
AT U ____ 8l
Options :

1. ¢ Electronic trading portal for agricultural cornmodities | FTY aegell & o7 Seiagli-ew ¢ia uled
2. ® APMC | Udigmet

3. ¥ National Market for Farm Produce in New Delhi | 78 eail H it Ioq1e & oid T8 a1

4. ® pgri Export Zone | FY =aid &=

Question Number : 79 Question Id : 3354728109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

'mm:% is the objective of Agri Export Zones in Madhva Pradesh? | Az near # Ut gadle I (@ id 82 #1385
FT 5

Options :

1. #¥ Export agricultural machinery | % A= @7 Ta=iq @r

2. ¥ Export agricultural technology | FW a1 &7 =aid #eaT

3. ¥ Increasing export of a particular produce | Tt f2ideT Ieue & Faid # agimer @

4. % Import produces for processing and then export | JTUTGT HT TEEHT & 610 AT FCAT 3 T g ia @

Question Number : 80 Question Id : 3354728110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is NOT a function of 'The Madhya Pradesh State Agro Industries Developrrient
Corporation Ltd.'? | FaeiEs # G = ar 'mwuﬁar@vqﬁsz@sréamﬂtmﬁ%mﬁﬁ%@ (22T T T iy =l
EEIL] T UF T 5] 57

Options :

1. ¥ Manufacture of fertilizers | Jeiva FT THATT

2. ¥ Research in agriculture technology | T4 Wi & er
3. ¥ Marketing of vegetables & fruits | Gfewal Ud Bl &7 ST
4. ¥ Marketing of Seeds | &=l @7 oo

Computer Knowledge
Section Id : 335472267
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Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472267
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
In M5 Excel, the colurmns are numbered from A onwards till Z column is reached. After Z Column, the series

start with _______ and so on. | TAYE UFHa H,_ P B A T HH Z FI6H Uga a8 Trae a1 ST 31 Z FIeH & a1,
i _____ & BT AT 5 S GET W AT algd [ 45! gl

Options :

1. ¥ AA AB, ..
LN
® 14 2B..

® 114 22B..

[

W

-

Question Number : 82 Question Id : 3354728112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Awebsiteisajan ____________ cookie. | U de@Ee ___________ EEANICIE

Options :

1. ¥ non-volatile | T-3E@R
2 % yolatile | s1ER

. ¥ transient | st

# intransient | Sgiid®

w

>

Question Number : 83 Question Id : 3354728113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
e-Mail stands for: | 5-T %7 Q0f & 54T &

Options :

1. ¥ Electronic man | Seggii-® a4

# Electromagnetic mail | Feigg T ieed e
. ¢ Electronic mail | Seiggi-d 8

# Engine mail | 59 A

N

(4]

s

Question Number : 84 Question Id : 3354728114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A 1131 gqrpose 15 to prohibit unauthorized access to your cornputer via the Internet. | _____ FTHET

TEAT AT FHIIET | Soe-0 o ATEH & SFTOET TFod & TIFeTH &7 51d7 21
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Options :
1. ¥ popup blocker | GTISIT FATHT
. ¢ firewall | BToRdTe

M2

® spyware blocker | HUTEdaR gaThT
4 % sparn assassin | HUH @A

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

w

Question Number : 85 Question Id : 3354728115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following is a computer classification? | o= ® & T Us FHILLT FeATH TR (@i §7
Options :

. ¢ Supercomputer | GUIEATIET

R L

® Windows | der
® Android | UgToE
® Mac OF | B aNUg

!‘\Jn—l

L

Question Number : 86 Question Id : 3354728116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the extension of saved file in MS Excel? | TAUE UFdd H, 9 B0 &1 THACI FaT 57

Options :
1. ¥ xls
3. ® xbs

4 ¥ o3

Question Number : 87 Question Id : 3354728117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Word 2007, how do we set the characters in the following manner ‘diamond’? | TRUE 98 2007 # 54
digped @ AE T 8¢ ‘diamond’ # o6 TR AT ¢ 99 57

Options :

1. ® Use smaller fonts | §1¢ HT-gH HT UM e

2. ¢ Set the font as strikethrough | TEEEY & & H B ®I HT FAT
3. ¥ Indent the text to the top | TFae &1 I U¥ Z2¢ T

4 % Use SmartArt | GATCATE T UGN Far

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 88 Question Id : 3354728118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To send a received mail to another person, younesdto __________ the message. | W Hel @1 Toped! ZHL T2k @1
G o T sTueRt IET A @ AT U

Options :

1. ® Reply To | foqamé ¢
2. ¢ Forward | BHds

3. % Reply All | Ryam &ifa
4 ® Copy | @Mt



12th Dec17 Shift 1

Question Number : 89 Question Id : 3354728119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many bytes equal to a Megabyte? | U@ HITETES F a€le] fhdd a15e 51d 27

Options :
» 2%bytes / 29 @15C
1. = )
20 bytes [ 220 @r3E
230 bytes [/ 230 @iSC
3 %
. 2% bytes / 2¥0 F15C
4 %

Question Number : 90 Question Id : 3354728120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which expression is used to know how the nurmbers in a deterrined set of cells are calculated in MS Excel? |

ﬁmgﬁmmm@%ﬁ%@ﬁﬁhﬁﬁh@ﬁﬁmmﬁvﬁ%ﬁwﬁ%ﬁﬁﬁmﬁw@wﬁmmﬁﬁmﬁm
EICIES

Options :
1. ¢ Formula | ®THaT
2. ® Field | bieg

w

® Data [ ST
. ® Query | gt

ML

Question Number : 91 Question Id : 3354728121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich one of the fOllOWl'n%ShOI‘tCut ke;vS 15 used to COpy a portion from a document in M5-Word 20077 | THTH
a2 giggie 2007 # e # & @ o aidee &, Stgic § § tordt wn o wdt we o g wgwd g6t 87

Options :

1. ¥ CTRL + N
. ® CTRL+ O
VY CTRL +C
4 ¥ CTRL +5

[

(WA}

Question Number : 92 Question Id : 3354728122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following shortcut keys is used to undo’ operation in MS Word? | UATE a2 | ToreT affaea &t
undo’ F & 6T 5798 & T afdare gl T I T S1maT 87

Options :

1. ® Ctrl + X

o

®Ctrl + O
v Otrl + 2

w
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4 ® Ctrl + N

Question Number : 93 Question Id : 3354728123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A word processor can be used best to: | U T2 WEEE FT @7 & & I fom & T ferar smam g
Options :

1. ® Paint a picture | = &1 de a1 & Ty

¥ Draw a diagram | SN a9+ ¥ &g

. ¥ Type a story | GTRI TEY @0 & g

® workout income and expenses | T 3T g7 e & oy

M

L

e

Question Number : 94 Question Id : 3354728124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A co%nputer has only one processor which is knowr as: | U@ #HYILT § 0T UF 51 HIEET 51T 3 e (=HF 918 & ST
GRS

Options :

1. ¢ Uniprocessor | JHWHEER

. % Multiprocessor | Hele HTEaT
#® Multithreaded | AdERIZE
% Multi-meter | AecI-HEY

2

L

Question Number : 95 Question Id : 3354728125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
How many ‘Ctrl’ keys are present in a standard keyboard? | Uw §2e didie § ! ‘Ctrl’ &l Juaee 5id | a7

Options :
1. %1
V2
® 4

W

>

Question Number : 96 Question Id : 3354728126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following key is used to delete a word or a line? | AT & & o gt 7 Sd 0T U 92 A7 Ae @i
T&eite @ & T o SmaT 22

Options :
1. % Alt
# Shift

® Insert

r

w

4. ¥ Backspace

Question Number : 97 Question Id : 3354728127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is the CORRECT order of the four major functions of a computer? | UeF FHWREL & I
T FT] 1 0§ & DI T 0 gl 57

Options :
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% Process, Output, Input, Storage | WT&e, ST, ST,

P

# Input, Output, Process, Storage | 0T, HTITYE, T, FER

W

® Process, Storage, Input, Qutput | WEH, §ER<, 3Ye, HAEYT
4. ¢ Input, Process, Output, Storage | 9Ye, WTEH, HATITYE, T

Question Number : 98 Question Id : 3354728128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

‘THT’ extension refers usually to what kind of file? | ‘THT’ UFadsH, AHNYT & & Frd TR 61 IS 1 g0 Bedl g7
Options :

1. ¢ Text file | TFdE G5

# Image file | g7 B1EA

® Andio file | T2dT BEA

¥ adobe Acrobat file | USTd UHIET HIgd

M

w

g

Question Number : 99 Question Id : 3354728129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of the following is NOT an input device? | 77 8 & &9 | U@ gAqe f&amsd gl 57

Options :

1. ¥ OCR | sietsme

2. % Keyboard | #aE
3. ¥ Monitor | Hi-et

4. % MICR | URSTEHTST

Question Number : 100 Question Id : 3354728130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Internet is a

Options :

1. ¢ Network of networks | eddd T "ead
2. ® Website | de@EC

3. ® Host | 316

4. ® Server [ v



